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Question 1
(a) Simplify (6x-3)(2x-1).

(6x—3)(2x-1)=12¢ — 12x+ 3

(b) Simplify (3x° —2x* —3x+2)+(x-1).

3xP+x-2 Or:
x—1)3x" —2x* —3x+2
X ) x’ —3x 1 B _2
3x’ —3x7
@ — 342 X 3x° ba —-2x
x'—x -1 -3¢ -x 2
—2x+2
v Answer = 3x* + x — 2.
—2x+2
0
Answer = 3x* + x - 2.

(©) () Solve the simultaneous equations:
2x—3y =18 0]
5x+ 9% =-10 @

® x 3: 6x—9y =54

@: 5x+ 9y =-10
11x =44
+11: X =

Subinx =4in @:

24)-3y =18
8—-3y =18
-3y =18-8
-3y =10
x(=1): 3y =-10
+3: y =—-10+3=-10/3 or equivalent

Answer:  x=4 and y=-10/3.




@) Verify your answer to (c)(@).

Note: Only need to check the equation that wasn’t used to find the second variable. In this case, we

only need use @.

5(4)+9(—?J = 20-30 -10.
Question 2
(a) Express in its simplest form: X, x;4.
45 -x)+5(x—-4) _ X
20 20
(b) Solve for x: 3x7+11x = 4.
3x* 4+11x—-4=0
2
3¢ +11x—-4=0 o LI —4G3)-4)
BGx-1D(x+4) =0 203
) 1113
Xx== x=-4 6
3 1
xX== x=—4
3
(¢) Divide 2x° +x*—13x+6 by x+3.
Method A Method B
2x* —5x+2 ax* | bx c
x+ 3) 2x° +x* =13x+6 X ax’ bx* cx
2 462 +3 | 3ax* | 3bx | 3c
=515« | | - -
6 ¥*(Ba+b) =-5=>3atb=-5
' =6=b=-5 => b=-11
2x+6 | | e e

3c=6==c=2




